GLOBAL OLYMPIC CENTER KATEQORIYA I SiZd UGURLAR ARZU EDIR!

1) Find the value of 1+2+3+4+5+4+3+2+1.
HanguTe 3HaueHue BbiparKeHUA 1+2+3+4+5+4+3+2+1
1+2+3+4+5+4+3+2+1 ifadasinin giymatini hesablayin:

(A) 25 (B) 26 (C) 27 (D) 28

2) What is the number in the blank so that the equation below is correct?
KaKoe 4ncno cTouT B NpomnyckKe, 4Tobbl ypaBHEHUE, MPUBEAEHHOE HMXKE, ObINO NPABUNbHBIM?

Asagidaki tanliyin dlizglin olmasi Ggln boslugu doldurun:

6+ |12

3) If B is a 1-digit number, what is the value of B if the equation is correct?

Echv B — ogHO3Ha4YHOE YMCNO, KAKOBO 3HadYeHue B, ecnv ypaBHeHWe BepHO?

ogar tanlik dogrudursa va B takragamli adaddirss, B-nin giymatini hesablayin:
B+B+B=9

(A)3 (B) 4 (C)5 (D)6

4) Find the value of / HaltauTe sHaueHue BbipaskeHua / ifadanin giymatini hesablayin:
25+18-5="

(A) 45 (B) 42 (C) 38 (D) 37

5) Choose 2 digits, without repetition, from 4, 5, 6 and 7 to form two-digit numbers. How many
even number(s) is/ are there?

BbibepuTe 2 undpsbl 6€3 nosTopeHns ns 4,5,6 1 7, 4ytobbl chopmnpoBaTb ABY3HAYHbIE YMCAa.
CKO/IbKO YETHbIX YUCEN MOXKHO NOAYYETCA?

4,5,6 va 7 adadlarindan takrar istifade etmadan, ikiregamli adadlar alin. Nega ciit adad
alinacaqdir?
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6) Find the sum of the greatest 1-digit odd number and the smallest2-digit even number.

HaVIﬂ,MTe Cymmy Hambonbliero O0AHO3Ha4YHOro HeYyeTHoro 4Yynmcsaa N HaMMeHbWero As8y3Ha4yHOro
YETHOro 4ymncna.

on boyik tak takragamli adadls an kicik clt ikiragamli adadin camini tapin:

(A) 17 (B) 18 (C) 19 (D) 27

7) Find the value of / HaliauTe 3HaueHue BbipaskeHua / ifadenin giymatini hesablayin:
A+4+4+4+4+4+4+4+4,

(A) 36 (B) 45 (C) 32 (D) 42

8) A pear costs $3. A pineapple costs $4. How much does it cost if John buys 4pears and 5
pineapples?

Mpywa crout $3. AHaHac ctouT S$4. CKobKO ByaeT CToUTb, ecan JXKOH KynuT 4 rpywm u 5
aHaHacoB?

Armud 3 S, ananas isa 4 S-dir. Con 4 armud va 5 ananas alarsa, na gadar pul 6damalidir?

(A)S34 (B)S32 (C)$35 (D)S36

9) What is the smallest 3-digit even number by choosing 3 numbers from 8, 6, 7 and 5. (Each
number can only be used once)

KakoBo camoe maneHbKoe TpexaHayHoe YeTHOe YNCNOo, ecnu Bbibpatb 3 Yncna us 8,6,7 u 5.
(Ka)kp0e YNCcno MOXHO UCNO/1b30BaTh TO/IbKO 0AMH pa3)

8,6,7 va 5 adadlarindan 3 adad se¢cmakla (har adaddan yalniz 1 dafs istifade etmak olar) an kigik
Gcragamli clt adadi tapin:

(A) 568 (B) 865 (C) 756 (D) 567

10) John has one brother and two sisters. How many sisters does John's brother have?
Y I>koHa ecTb 6paT n aBe cecTpbl. CKoNbKo cectep y 6paTa [yKoHa?

Conun 1 gardas va 2 bacisi vardir. Conun gardasinin neg¢a bacisi var?
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11) According to the pattern shown below, what is the number in the blank?
B cooTtBeTcTBUM C 06pa3LOM, NOKa3aHHbBIM HUXE, KaKOe YAC/I0 HAaXOAUTCA B MPONycKe?
Asagidaki ifadaya uygun olaraqg boslugda hansi regem dayanir?

2,2,4,6,10, 16, _

12)28 balls are split into two equal groups, how many balls are there in each group?
28 wapos pa3buTbl Ha ABe paBHbIe rPymnnbl, CKOJIbKO LWAPOB B Kax40M rpynne’?
28 sar iki barabar hissaya bolinmusdir. Har grupda neg¢a dana sar var?

(A) 14 (B) 15 (C) 16 (D) 17

13) What is the greatest possible number of consecutive day(s) among only one Tuesday?

KakoBO MaKCMManbHO BO3SMOMXHOE KOJIMYECTBO NOC/1e40BaTe/IbHbIX AHEN Cpean TO/IbKO O4HOro
BTOPHMKA?

Yalniz bir ¢carsanba axsaminin arasinda an ¢ox neca ardicil glin vardir?

(A) 12 (B) 13 (C) 14 (D) 15

14) Now Andy needs to cut a cake. How many cuts at least are required to ensure he can cut the
cake into 4 parts?

Tenepb IHAM HYKHO paspe3aTb TOpT. CKOMLKO NO KpaiHeW mepe paspesoB Tpebyetca, YTobbl oH
CMoOr pa3pesaTb TOPT Ha 4 yacTu?

Endi indi tortu kesmalidir. Tortu 4 hissaya bolmak lclin ona tortun Uzarinda an azi ne¢a dana
kasik acmaq lazimdir?

(A) 2 (B)3 (C) 4 (D)5



GLOBAL OLYMPIC CENTER KATEQORIYA I SiZd UGURLAR ARZU EDIR!

15) A student needs to finish IMEC Final Round within 100 minutes. How many minute(s) is / are
required for 34 students to finish IMEC Final Round altogether?

CTyaeHT AonXeH 3aKOHYUTb puHanbHbIN payHa IMEC 8 TeueHne 100 MUHYT. CKONbKO MUHYT
TpebyeTca / TpebyeTca, utobbl 34 cTyaeHTa 3aBeplunMan duHanbHbI payHa IMEC 8 uenom?

Talaba IMEC-in final marhalasini 100 dagiga arzinda bitirmalidir. IMEC-in final marhalasini
bitirmak Ggln 34 talabaya cami ne¢a daqiga vaxt talab olunur?

(A) 100 (B) 3400 (C) 340 (D) 34

16) 3 students have 19 toys ships in total and each of them has a different numbers of toys ships.
At most how many toys ships does the student with the least toys ships have?

Bcero y 3 yueHMKoB 19 urpywedHbix Kopabnein, 1y KaXaoro u3 HUX pasHoe KOANYecTso
UrpyLweyHblx kopabnen. MakcumanbHoOe KONMYECTBO UMPYLLIEYHbIX Kopabaen y ydeHuKa ¢
HaMMEHbLUMM KONMYECTBOM UIpyLLEYHbIX Kopabnein?

3 sagirdin 19 oyuncag gamisi var va har birinin muxtalif sayda oyuncaqg gamisi vardir. ©On az
oyuncag gamisi olan sagirdin an ¢ox ne¢a oyuncaq gamisi vardir?

17) How many 2-digit numbers are there?
CKONbKO cyliecTsyeT ABY3HaYHbIX Yncen?
Neca ikiragamli adad var?

(A) 99 (B) 90 (C) 98 (D) 100

18) Determine / Pewute / Hall edin:
50+12+3+4+5+16+7+18+9+11

(A) 135 (B) 123 (C) 145 (D) 146
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19) How many squares are there in the figure below?
CKONbKO KBaApaTOB Ha PUCYHKE HUKe?

Asagidaki sakilds neg¢a kvadrat var?

20) How many triangles are there in the figure below?
CKONIbKO TPeyro/isHUKOB Ha PUCYHKE HUXKe?

Asagidaki sakilds neg¢a Uicbucaq var?
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21) How many interior angle(s) is/are there in the polygon below?
CKO/IbKO BHYTPEHHUX YII0B B MHOTOYrO/IbHUKE HUMXKE?

Asagidaki coxbucaglinin neca daxili bucagi var?

(A) 5 (B) 6 (C) 10 (D) 11

22) Peter has 34 oranges and Harris has 6 oranges. How many oranges does Peter have to give
Harris to make them to have the same number of oranges?

Y MNutepa 34 anenbCnHOB, a y Xappuca 6 anenscuHa. CKONbKO anesnbCuHOB [nuTep AoXKeH AaTb
Xappucy, 4Tobbl y HMX HBbINO O4MHAKOBOE KOIMYECTBO anebCUHOB?

Piterin 34, Harisin isa 6 portagali vardir. Piter Harisa ne¢a portagal vermalidir ki, onlarin barabar
sayda portagal olsun?

(A) 14 (B) 15 (C) 16 (D) 17

23) How many line segments are there in the figure below?
CKONbKO OTPE3KOB Ha PUCYHKE HUKe?

Asagidaki sakilda neca xatt seqmenti var?
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24) Peter has 14 oranges and Harris has 4 oranges. How many oranges does Peter have to give
Harris to make them to have the same number of oranges?

Y MNutepa 14 anenbcuHOB, a y Xappuca 4 anenscuHa. CKONbKO anenbCuHoB [uTep AoMmKeH aaTb
Xappwucy, uTobbl y HUX BbI10 04MHAKOBOE KONMYECTBO anesibCUHOB?

Piterin 14, Harisin isa 4 portagali vardir. Piter Harisa ne¢a portagal vermalidir ki, onlarin barabar
sayda portagal olsun?

25) A whole number starts with
Lienoe yMcno HaunHaeTcs ¢
Tam adad ilo baglayir.

(A) 1 (B) O (C)2 (D)3



